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X 71,323 157,593 75,313 82,280 | =&FILUETAT 744 1,915 917 998
E 4587 10,114 4,698 5416
BEKET1T 870 1,894 912 982 |EREEZHI2T 1,378 3,242 1,561 1,681
BEKET2T 342 839 399 440 5 1,378 3,242 1,561 1,681
B 1,212 2,733 1,311 1422 |R=ZE~ EB1T 119 314 160 154
< FE] BT 8,172 19,845 9438 10407 |[R=E~EHR2T 270 524 246 278
Lt RER1T 345 544 267 277 |{R=E~ EBT3T 437 1,011 489 522
Tt RERT2T 231 466 214 252 |R=E~ EBT4T 204 383 177 206
Lt RER3T 293 526 284 242 | R=E~ EBT5T 377 694 367 327
Lt RERT4T 164 294 151 143 st 1,407 2,926 1,439 1,487
Lt RERST 138 295 148 147 | KSI1RBT1T 748 1,706 801 905
Tt ERERGT 94 242 120 122 | KEZFET2T 908 1,985 963 1,022
TtERER7T 76 181 87 94 §t| 1,656 3,691 1,764 1,927
Tt ERERST 121 225 113 112 |BRERT 69 166 74 92
g 1,462 2,773 1,384 1,389 [ RERT2T 153 346 180 166
tfEBET1T 194 421 202 219 (BB RER3T 161 230 71 159
tfEBET2T 1,074 2,464 1,171 1,293 |FARERT4AT 198 305 105 200
tfEBET3T 884 1,719 849 870 B RERIST 132 305 140 165
tfEBET4T 858 1,982 991 991 Hi 713 1,352 570 782
g 3,010 6,586 3,213 3,373 |F{E EET 2,102 4,929 2,424 2,505
ERAET1T 615 1,594 794 800 |= AHT 242 459 237 222
ERATET2T 320 765 373 392 |BEEERMET1T 258 488 233 255
ERATETST 333 779 375 404 |BEEEFRMET2T 443 922 462 460
g 1,268 3,138 1,542 1,596 (B E S HRMAETST 682 1,514 730 784
==Yl 996 2,199 1,042 1,157 (B E B RMET4T 625 1,311 658 653
HEWEET 240 512 239 273 |BEEERMETST 692 1,681 804 877
HERE2T 415 743 334 409 §t| 2,700 5,916 2,887 3,029
HEWREIIT 263 494 248 246 |BEEMBILAT1T 232 399 191 208
HEWE4AT 143 309 145 164 (BT B5#EILET2T 389 854 411 443
B 1,061 2,058 966 1,092 | B EB#EILEI3T 518 1,073 520 553
HEREET 1,635 3,322 1,525 1,797 | B#EILET4T 578 1,241 597 644
HEREET2T 3,137 6,795 3,222 3573 |BEEMBILATST 717 1,676 815 861
HEFETST 3,113 6,321 2,849 3,472 B 2,434 5,243 2,534 2,709
HEFETAT 2,298 4614 2,049 2,565 |EEBHEET1T 949 1,910 915 995
HEREEIST 1,238 2,697 1,310 1,387 (B E BiBHT2T 140 299 154 145
5| 11,421 23749 10,955 12,794 |[BEEMEEI3T 2,162 4614 2,240 2,374
HUEET1T 765 2,185 1,062 1,123 B 3,251 6,823 3,309 3,514
HYERT2T 516 1,308 652 656 |BEETZET1T 633 1,458 686 772
g 1,281 3,493 1,714 1,779 (BB BHlZET2T 474 1,032 487 545
MEET 436 1,009 491 518 | BEERZAI3T 317 788 387 401
EET2T 302 769 369 400 B 1,424 3,278 1,560 1,718
g 738 1,778 860 918 |BEEEARETTT 663 1,327 664 663
WHAEET1T 737 1,923 925 998 |BEEEARET2T 245 599 301 298
WHEEET2T 221 499 240 259 |BEEEARETST 1,021 2,824 1,379 1,445
RT3 T 711 1,537 759 778 B 1,929 4,750 2,344 2,406
g 1,669 3,959 1,924 2,035 |EE BMEmET1T 299 670 321 349
RKEIRAT 5279 12,181 5,895 6,286 |EE BMEmEAET2T 229 499 240 259
hRERTT 262 528 245 283 |BEE EEmBET3T 553 1,231 605 626
hRER2T 203 372 164 208 g 1,081 2,400 1,166 1,234
hRERST 219 483 230 253 |J\TFdt 94 204 97 107
hRERT4T 273 542 255 287
B 957 1,925 894 1,031
o A BT 564 1,184 563 621
hEEEET1T 550 1,166 538 628
hEEEET2T 779 1,304 628 676
hEEEETST 437 1,082 520 562
hEEEET4T 661 1,360 671 689
hEEEEST 833 1,741 837 904
hEEEET6T 3,286 6,370 3,031 3,339
it| 6,546 13,023 6,225 6,798
P =T 689 1,642 797 845
BAFBILETTT 1,035 2,209 1,057 1,152
BXEFILET2T 959 2,174 1,073 1,101
BEAEFILAIST 1,849 3,816 1,651 2,165
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